Sociology 254

February 7, 2001

Research Methods

Prof. Nevarez

Sociology 254

February 7, 2001

Research Methods

Prof. Nevarez


Exam

This exam is worth 25% of your final grade in the course.  Therefore, you can earn a total of 25 points on the exam.  There is an extra credit question at the end!

Multiple choice questions: 1 point each. For questions 1-9 and 15, circle the letter that corresponds to the best answer.

1. A sociologist of the 1960s hypothesizes that moving to Canada is positively correlated with pacifist sentiments.  A historian rejects this hypothesis, arguing that being eligible for the draft explains both moving to Canada and pacifist sentiments.  In this case, being elible for the draft would represent a(n) ____________ variable.

D. spurious

2. Using inductive methods, researchers:

C. Analyze their observations to confirm, reject, or develop a theory.

3. Vassar Student Health administers survey to measure underage drinking among Vassar students.  To their surprise, they find that more underage drinking occurs in Main Building than any other dormitory.  In this study, the unit of analysis is:

B. the student

Answer questions 4-9 based on the following scenario.

A sociologist wants to test the theory that using drugs increases tolerance for deviance.  The literature on this subject suggests two major explanations.  The first is a neurochemical theory: narcotic substances neurochemically “open the minds” of users to alternate perspectives and beliefs about their world.  The second is a deviance labelling theory: since illegal drugs are defined as deviant by society, using them causes a person to identify with, associate with, and condone deviance in others.  On the basis of these theories, the sociologist hypothesizes that the frequency of a person’s drug use is positively correlated with the number of deviant friends they have.

The sociologist writes an anonymous survey sent out to 5000 Americans in which respondents answer the question, “How many times per month do you use marijuana, cocaine, LSD, ecstasy, and/or heroin?”  They are then asked how many friends they have had in the last year who (a) “are weird,” (b) have prior arrests, and/or (c) use drugs.  The sociologist calculates the results from this survey and finds that the predicted hypothesis holds “true” (i.e., the study does not reject it).

4. Which of the following represents the sociologist’s concept?

C. Drug usage

5. Which of the following represents the sociologist’s variable?

A. Frequency of drug usage

6. Based on the previous question, what kind of variable is that?

D. Ratio

7. Which of the following represents the sociologist’s indicator?

B. Survey question: “How many times per month do you use marijuana, cocaine, LSD, ecstasy, and/or heroin?”

8. A pharmacologist claims that the sociologist did not properly operationalize drugs in regards to the neurochemical theory, since the survey only asked about illegal drugs and not other narcotic but legal substances like alcohol and caffeine.  What kind of problem does this pose for the sociologist’s study?

B. A problem of validity

9. A survey researcher points out that people regularly underestimate or deny any attitudes or behavior of theirs that can be construed as deviant.  On this basis, the survey researcher predicts that some respondents will not give truthful answers to the survey questions. What kind of problem does this pose for the sociologist’s study?

A. A problem of reliability

Short answer questions: 3 points each.  Write your response in the space provided; no more than a paragraph should be necessary to answer each question.  With the exception of #14, write in complete sentences; illustrations and tables alone will not count as sufficient answers.

10. What are the three conditions of causality?

IV must be correlated with DV.

IV must precede the DV in time.

There must be no competing IVs that bring about the DV.

11. What are the distinctions between nominal, ordinal, interval, and ratio variables?

Nominal variables categorize variations only.

Ordinal variables categorize and rank variations only.

Interval variables categorize, rank, and measure distance between ranks only.

Ratio variables, categorize, rank, measure distance between ranks, and have a true zero point.

12. Describe the right and wrong methods for controlling a variable.  Briefly explain which the right method is preferable.  

The right way is to gather data that show all variations of a variable, and then isolate the variations in the analysis.

The wrong way is to gather data for an isolated variation from the onset.

With the right way, you can then analyze whether the controlled variable has an effect, because you need variations of a variable to demonstrate correlations (effects).

13. In regards to reliability, what kind of error is acceptable when making observations to test hypotheses?  What kind of error is not?  Briefly explain why.

In regards to reliability, random error is acceptable when making observations to test hypotheses.  

Just because all sorts of external factors affect our dependent variable, that does not impair our observations so long as those external factors are randomly distributed among the sample we are observing.

By contrast, systematic error is unacceptable because it may bias our observations of the variables under study.

Answer questions 14 and 15 based on the following page’s table and variable definitions.  

14. Estimate the suicide rate in a metropolitan area (a) where 60% of airtime is given to country music, (b) where 45% of the residents live in poverty, (c) that lies in the South, (d) where the divorce rate is 20%, and (e) where there are 5000 firearm retail outlets per 100,000 residents.

NOTE: Write a full equation and show your work clearly.  Although a miscalculation for one or more variables will give you the wrong answer, you can receive partial credit if I can clearly tell where you went wrong and were right in your calculations. 

Y = A + B1(country music) + B2(structural poverty) + B3(south) + B4(divorce) + B5(gun availability) + E

Y = -.26 + (0.27)(.60) + (.013)(1) + (.27)(1) + (.30)(.20) + (.19)(.05)

Y = -.26 + .162 + .013 + .27 + .06 + .0095

Y = .2545

15. Of the following independent variables for which you calculated their effect in the previous question, which is the least statistically significant according to Table 6?

C. Divorce

EXTRA CREDIT QUESTION: for up to 3 extra points, not to exceed a total exam score of 25 points.

In chapter 3 of The Overspent American, Schor used women’s cosmetics to test the hypothesis that “The correlation between price and intrinsic quality varies negatively with social visibility.”  She operationalized variation in social visibility with (in order of declining visibility) lipstick, mascara, eyeshadow, and facial cleanser.  The class discussed how her examples were biased towards women and whether there were comparable examples for men.

Pretend you are replicating Schor’s study for men and give at least three comparable examples of possessions that men might buy to test her hypothesis.  Clearly indicate how the examples vary by social visibility, as Schor did for women (e.g., women bring out and use lipstick in public settings more than the other cosmetics, whereas they use facial cleanser in the privacy of their bathrooms more than the other cosmetics).  Higher scores for this question will be given to examples that approximate the characteristics of validity from Schor’s use of cosmetics, such as a narrowly defined range of function (e.g., the different cosmetics all serve to enhance beauty) and comparability in the purchase process (e.g., the different cosmetics can be bought at the same stores).
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